=
| —
L L]
Luy, —
Ay,
LT I,
STy - o
>

(RXKi

W ol

[TEE]
EERDKERFICIE
F=shith DIEN, F5 1

S - KL EDRAICLD. |
CORERL 2K L

L5 |
2.0mIl £ 3.0m*
1.0m I E2.0mk

o

= 4 0.5mLL E1.0mK i
735%‘%73‘&30&?’0 0.2mEL E0.5mkK
Komsy —7 Vel P
“[13000] T — ///
| % - A\ (afﬂﬁ?ﬂ%i 1.9Fm)

& T 7 & M= :

é}\’-

/A




KEERXE

N
!

~
4

Xk

Eﬂ\\ 

FE)

(BASTEEE

({aBrK=E 1.9Fm)

-
Sa T
XK | N
HEEK ° =
+6 == |
Ubw%ﬂ N 5
.F_..,._.H.W.;NMO | e
g Tt P O
&n_,\@@ US|l e
NpR_H®) |2
— ,.mlzw—,@ @ 3 »
LSRR Y |6
=TT ,::,,0\\
N/ S\ Fixezs




